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Part I / ¥ I
Mathematics / TifUTa

If A and B be two finite sets such that the
total number of subsets of A is 960 more
than the total number of subsets of B, then
n(A)—n(B) (where n(X) denotes the

number of elements in set X) is equal to :

1 2
2 3
G) 4
4) o

If Ay and A\, are the two values of A such
that the roots a and B of the quadratic
equation, A(x2—x)+x+5=0 satisfy

A A
g+E—Iré=0,then—%+—§isequal
B a 5 A M

to:

(1) 536
(2) 512
(3) 504
(4) 488

If (x+iy)2=7+24i, then a value of
1 1

(7+ \/—576)5 — (7--576)" is :

1.

g ATN B IR ag=a WEFASF
T STII=! i &, B o STHTA
HT & G 960 AfF B, T n(A) —n(B)
(STl n(X), Tg=I X % TaFal sl G gl
?) W T :

1 2
2 3
(3) 4
4) 6

FfE A, ANy, N TE & AA € T fgemt
THRT A(x2—x)+x+5=0% T o, B TH

%ﬁﬁ%+ﬁ+é=o%,aﬁ;‘—§+)‘—§w

(0% 5 2 )\1
g
(1) 536
2) 512
3) 504
(4) 488

A (x+iy)2=7+24i &, A
1 1

(7 + V=576)2 — (7 - V=576)* 1

1 -3 1) -3i
() 2i (2) 2i
G) o6 G) o6
(4) —oi (4) —6i
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Let S be the set of all real values of ‘a” for
which the following system of linear
equations

ax+2y+5z=1

2x+y+3z=1

3y+7z=1

is consistent. Then the set Sis:
(1) equaltoR
(2) equal to R—{1}
(3) equal to {1}
(4)

an empty set

For all real numbers x, y and z, the

determinant
2x XY —XZz v

_ - 2

2x+z+1 xy—xz+yz—z= 1+y i ol

3x+1 2xy—2xz 1+y

to:

(1) zero

2 (- -2 (-2

B (x—yz) (y—2)

@) (y—xz) (z—x)

An urn contains 5 red, 4 black and 3 white

marbles. Then the number of ways in

AT S, ‘2’ & |t arEdfaes Ol P 9= §
fSoer fau as g e

ax+2y+5z=1

2x+y+3z=1
3y+7z=1
A (consistent) T, T TH=A S :
(1) R& s
2) R—{1} % s ¥
(3) {1} % SRR &
(4) TFREmeg=at
x,yﬂ%z%ﬂ“ﬂﬂmﬁiﬁﬂ:@qﬁﬁ%m
BSINED
2x Xy —xz v
2x+z+1 xy—xz+yz—22 1+y
3x 4l 2xy—2xz 1+y
T T
1) =)
2 @-y -2 (-2
G (-yz) (y—2)
4)  (y—x2) (z—x)

Teh HeA B 5 AT, 4 il 97 3 Ihe el © |
Al 3 qlehl, T8 et | 9 4 S et s

which 4 marbles can be drawn from it so Tehd € foh 570 @ stfres | siferes 3 e %;T,
that at most 3 of them are red, is : Eisiel % :

(1) 455 (1) 455

(2) 460 (2) 460

(3) 490 (3) 490

(4) 495 (4) 495
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If the digits at ten’s and hundred’s places
in (11)?°16 are x and y respectively, then
the ordered pair (x, y) is equal to :

1) 16
2 61
G @1
4 18

Let a;, a,, a3, a4, a5 be a G.P. of positive
real numbers such that the A.M. of a, and
a, is 117 and the G.M. of a, and a, is 108.
Then the A.M. of a; and a5 is :

Ffg (11)2016 § T7TE qon Heh o T R SHAS:
Wxﬁmy%, @ shfHd g (x,y)w%:

1) (1 6)
2 (61
G @1
4 &8

(< ay, a,, ag, a, T a5 Teh YCH (A
e i TEt O 9@ § fF a, Ao a, 0
THIT A 117 € AT a, 997 a, H1 OR
e (G.M.) 108 B, T a, TT a5 I FHIMN
WA

(1) 108 (1) 108
2 117 2) 117
(3) 1445 (3) 1445
(4) 1455 (4) 1455
If the sum of the first 15 terms of the series I FON 34+7+14+244+37+ ..... & JgH
3+7+14424+37+ ... .. is 15 k, then k 15931 HAMI5 k8, @ k e T -
is equal to :
(1) 122 (1) 122
(2) 81 2) 81
3) 119 3) 119
4) 126 (4) 126
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10. iy log (sin7x + cos 7x) equals : 10. gy log (sin7x +cos7x ) qyew ¥ -
x—0 sin 3x x—0 sin 3x
1 z 1 z
M 3 M 3
1 1
® 3 ® 3
3 1 3 1
G 3 G 3
1 1
—log 7 —log7
@ log @ Flog
11. If the function f: R — R, defined by | 11. AfX %o f: R - R, S0
ax, x <2 ax, x <2
x)= x)=
f(x) axz—bx+3, x =2 fx) axz—bx+3, x =2
is differentiable, then the value of g afyyrfug é\, ATH A %, at
f'(=3)+f'(3) is equal to : f’(—3)+f’(3)7=h"[ﬂ'|7f%:
1 3 1 3
(2) 4 2) 4
, 1B L
G 5 G
4 0 4 0
12. The sum of the abscissae of the points | 12. 37 figafi o x-fqenel =1 4, TRl Sk
where the curves, y=kx?+ (5k+3)x + 6k +5, (keR), x—31&]
y=kx2+ (5k +3)x + 6k +5, (keR), touch %I T A E, T
the x-axis, is equal to :
I I
n -3 n -3
10 10
® -3 ® -3
3 > 3 >
e 3 O
o 4 o 4
@ -3 @ -3
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13. Water is running into an underground | 13. T YfH7d el it YeraTehr Sohl, S 10 H.
right circular conical reservoir, which is el e S erer emer =t 5= 5 1. %, g
10 m deep and radius of its base is 5 m. If ST T AfG Taht o I o STIGH § TR
the rate of ch in the vol f wat . F afead
e rate of change in the volume of water EhLTE{T%Tr 3 /f %, A S B
in the reservoir is %frr m3/min. , then the S (q"}./ﬁ:[, § ) I T %,
rate (in m/min) at which water rises in it, g
when the water level is 4 m, is :
3 3
1 3 M 3
1 1
@ 3 @ 3
1 1
G () -
3 3
@4 5 4 3
x+2 x+2
14. The integral dx | 14. HHRA J. dx SR
8 J.(x2+3x+3)x/x+1 (x2+3x+3)\/x+1
is equal to : g
1 -1 I X | 1 -1 I X |
M FE\Been| T M FE | BEy | T
2 1 I X | 2 -1 I X |
@ HFE\Bey| T @ [FE |\ Bee | T
2 t_l_ = _+C 2 t_l_ — _+C
®) ﬁco NER! ) ﬁco Jx+1
1 -1 i X\/§ | C 1 -1 i X\/g ] C
(4) ﬁcot ,_x+1 + (4) ﬁcot ,—x+1 +
(where C is a constant of integration) ( el C Ueh FHIheH 3R § )
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T4 *T4

dx dx
15. The integral I T L35 isequalto: | 15. HHA R T
1+ 3ftan2x 1+ Jtan2x
724 724
) = ) =
o 3 3
) = ) =
m m
@ 7 G 5
m m
@ 1 4) 1g

16. If the line, y=mux, bisects the area of the | 16. IS @I y=mx, &

region
{(x,y):0=x< %, 0Sy£1+4x—x2}, then {(x,y):0=x=< %, OSyS1+4x—x2}mi |
m equals : R 9T H fauifsd A &, A m AT A R :
9 9
1 3 1 3
13 13
@ @ 3
13 13
@ - G &
39 39
@4 1 @ 15
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17. The order and the degree of the differential | 17. 37 Tt ?fl“ai?ﬁ’, IEREIRCE qA ﬁs@ %, e}
equation of all ellipses with centre at the .

R . S, - F Feen & & en s M2 %, %
origin, major axis along x-axis and >
eccentricity ﬁ are, respectively : AR THIFT I HIE T T HE

2
1 1,1 1 1,1
2 21 2) 21
@ 1,2 G 1,2
4 22 4) 2,2
18. If an equilateral triangle, having centroid | 18. Ush THeg 1Y, fS&eht %k qa foig g, &l
at the origin, has a side along the line, Teh Yl kec| x+y=2 Y foom o %, ar %THG[
x +1y=2, then the area (in sq. units) of this 1 &A% (T Tl H) T
triangle is :
(1) 6 (1) 6
) 63 2 63
9 9
—/3 —/3
G 5 G 5
SN 4 3J6
19. The equation of the circle, which is the | 19. 338 I <l et S ga x2+y2—2x=0
mirror image of the circle, x> +y?>—2x =0, W@ y=3—x H A0 gfafea &, ©
in the line, y=3—x is :
(1) x2+y>—6x—8y+24=0 (1) x2+y>—6x—8y+24=0
(2) 2>+y>—8x—6y+24=0 (2) x?>+y*—8x—6y+24=0
(3) >+y*—4x—6y+12=0 (B) x*>+y*—4x—6y+12=0
(4) 2>4+y*—6x—4y+12=0 (4) >+y*—6x—4y+12=0
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20. The product of the perpendiculars drawn

2 2
from the foci of the ellipse, r oL ¥y _ 1
9 25

upon the tangent to it at the point

(3&}..

2 2
1) 9
@ =
(3) 18
4 3J13

21. Which one of the following points

does not lie on the normal to the hyperbola,

x—6—%=1 drawn at the point
(8,3v3)?
1
o [#-F)
1
@ [2 )

3) (11,3)

@) (10,3)

20.

21.

2

ﬁﬁﬁﬁ%+

[% ?]W@?’TT@WWW@@@

il T IR © :

e
25

y 18
@ 43

3) 18

e 7 @ sita-wr fag sfquraaa
2

2
91‘_6—%=1 % fdg (8,3v3) ® @ T

sAfyeis o feod & &2

)

Sl

o (o
(3)  (11,43)

4)  (10,43)
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22. If the shortest distance between the lines | 22. Jfe ¥@RT x+2\= 2y=—12z,

x+2N=2y=—12z, x=y+4N=6z—12\ is x=y+4}\=6z—12}\a?5ﬁ_tl?flﬁ'q§ﬁ4\/§
442 units, then a value of \ is : O] %, TANRTHAAE :

1 2 (1 2

2 2 2 2

3 2v2 ®) 242

w 2 @ 2

23. The perpendicular distance from the point | 23. fdg (3,1, 1) ¥ T& &Hdq, st f6g (1,2, 3) 9

(3, 1, 1) on the plane passing through the R W@ & qgr fgm wx Y@
point (1, 2, 3) and containing the line, - A A AA A
5 A A Ao . r=i+j+NQi+j+4k) @y W
r=1+j+NQ2i + ] +4k), is: Tl T el ! oI ©
1 E
T W AT
= f
@ T @ Ja
@ 0 @) o
3 3
@ @

%
24. Three vectors :/ b and ? are such that | o4 9 wfewr :’ _b> T E) g ¢ f=

2=, 5l =2 [ 3121, fol =, [
al=1, |bl=2, lc|=4 and al =1, b‘:z, cl=4 der
:+g+?:8.Thenthevalueof :JFB}JF?:S%’?h
- - - - - - - - - - - -
4a‘b +3b-c +3c-a isequalto: 4a‘b +3b-c +3c-a HAAT:
(1) -—o68 (1) -68
2 -—26 2) -26
(@) —34 (B) -34
(4) 27 4) 27
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25. Two numbers are selected at random | 25. JIHS: Wﬁﬁﬁﬁﬂ@ﬁ(mm

(without replacement) from the first six %) AgesA A e | AR X I H H B
positive integers. If X denotes the smaller @& &1 YIid &wIal §, a1 X &1 geann
of the two numbers, then the expectation (Expectation) EE
of X, is :
T T
L 3 D3
, B , B
@ 5 @ 5
3 Z an L
G 3 G 3
5 5
4 3 @ 3

26. If A and B are two independent events | 26. gfg A 9971 B <1 a3 ‘EIE?TQ' Tt g f&

3 4 3 4
h that P(A) = — and ==, P(A) = — qd9l == g, da
such that P(A) = 7+ and P(AUB) = T P(AUB) = g
then P(A NB) is equal to : P(A NB) sI&IX EE
) = ) =
(1) » 3
) = ) =
3 = ) —
3 3
4 35 @ 35
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27. A bag contains three coins, one of which | 27. T A | ﬁ:lv'ﬁ?%, 979 9 e & 1 3R
has head on both sides, another is a biased o €, 380 faeem S (biased) T 58 ™
coin that shows up heads 90% of the time o1 90% R Wehe BT © IR Tem sHfvea
and the third one is an unbiased coin. A fogm &1 91 ° @ s fagen aigssan fama
coin is taken out from the bag at random R IBTEA 71| Afe Foeer R o dawe &, @
and tossed. If it shows up a head, then 3T AT TR B At WIfehar © :
the probability that it is the unbiased coin,
is:

T =
1 3 ST
) = N >
2 5 @ 2
3 = 3 L
G 3 G 3
y > o 3
@ 3 @ 3
28. The value of + ! is: | 28 L ! HHAE :
’ e Vate ot 0s285° ' 3 sin255° " " c0s285° /3 sin255° '
1 242 1 242
) 42 ) 42
(2) 5 (2) 5
22 242
3) 3 3) 3
4 3-2 4) 3-2
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29. An observer standing at a point P on the | 29. T Uh B3R E & 99 feea T 1ZIE'I?:T Ealeciral
top of a hill near the sea-shore notices that P 9 @GSl B Tsh Sielsl hl AITHA R[0T 30°
the angle of depression of a ship moving T E | SRS o S 9§ U i @ i
towards the hill in a straight line at a RIS it 31X S W T 45 fife & 9k =%
constant speed is 30°. After 45 minutes, IV 45° B S g | AfG T § 9% T 195,
this angle becomes 45°. If T (in minutes) is e foig P o el &1 3789 I 60° T,
the total time taken by the ship to move to T U5 B Fad g9 (i #) TR @1 T
a point in the sea where the angle of TS
depression from P of the ship is 60°, then
T is equal to :
(1) 451+ /3) (1)  45(1 +/3)
2
o o3 0 o3
1 1
1 1
30. Which one of the following statements is | 30. ﬁﬁﬁﬁﬂﬁ?—@%@ﬁ%@autology)
a tautology ? g2
1 (Pvy—q 1 PvyY-—q
2 pvip—9 2 pvip—9
®) pv@—p ®) pv@—rp
4 p—->@P—9 4 p—->@pP—9
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Part II / YT 11
Aptitude Test / 3Tfr&fer adreror

Directions : (For Q. No. 31 to 33). The problem figure shows the top view of an object. Identify
the correct elevation from amongst the answer figures looking
in the direction of the arrow.

fdor: (731 @33 & fow) Tv7 ATHd ¥ et aeg #1 SR gvF f@rr I &1 i &
19T 3T gU T SHIaal 4 d 9% T THE §vF Teal14 |

Problem Figure / 97 3T&hld Answer Figures / 3t ST

S U R L S

1 (1) @ () (4)
32.

[ ] | [ ] | 1
| | | I |

1 1) 2 (3) (4)
33.

X

i (1) @ () (4)
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Directions : (For Q. No. 34 to 36). Identify the correct 3-D figure from amongst the answer figures,

which has the same elevation, as given in the problem figure
on the left.

fE9r : (734 @36 @& @) 3-D 3 Ffaal ¥ T 3G FHd F G4 (7 F, GgE
§vT gvT 3Pl Q@ firerdt g

Problem Figure / 97 3Thld Answer Figures / 3t¥ 377?»’7%/277v

“ s @ @

(1) (4)
35. @ @
(1) (2) ®) (4)
.
(1) (2) 3) (4)
Directions : (For Q. No. 37 to 40). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?
fE9r: (737 @40 & @) | ST STFal § G BiT-G1 3Pl &1 T FI7 MHlT FTXK - X T
eI el T Fidler & 7
Problem Figure | F¥7 3fld Answer Figures / 3t ST
X
& ® ® &
X 1) (2 ) (4)
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Problem Figure | 97 3fld Answer Figures / 3t ST
X

X 1) ) 3) (4)
X
X 1) ) 3) (4)
X
X (1) (2 3) 4)

Directions : (For Q. No. 41 and 42). Which one of the answer figures will complete the sequence of
the three problem figures ?

fder : (7. 41 32 & foam ) ST Hla 7 G FI7-TT STHT B 7 F97 TFiEl 5
G 3774 (sequence) T & ST 2

Problem Figures | H¥7 377557%277 Answer Figures / 3t 377?:7%?77
© { ) U = 0 =
= =X S oXa|l  loxa|l  loxEl =X
A s 0 0 0
O] (2) () (4)
42. & ? < <5 z%-
NI
O] (2) () (4)
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Directions : (For Q. No. 43 to 45). Which one of the answer figures shows the correct view of the
3-D problem figure after the problem figure is opened up ?

fFEor: (W43 @45 % forw ) | 3-D F¥7 FHId & Gierd W, W Hiadl § & &l 5vd
FHiT-TGTE?

Problem Figure / 997 3Tld Answer Figures / 3t ST

I B 1 A

JE e L L

oAl L

1) © (3) 4)
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Directions : (For Q. No. 46). Omne of the following answer figures is hidden in the problem figure

in the same size and direction. Select the correct one.

f[E9r: (9. 46 & @) | T 51 T IR SFEfTA T T TF 3FHT 79 3R o9 ¥ gm €9 G

gv7 3hla 4 g9 &1 Hi7-41 &l & g

Problem Figure | F97 3Tld Answer Figures / 3tX 377?’7%/2#

46. ||_ [
i 7 ] M ]
41';_ ?j 1 (2) () (4)
Directions : (For Q. No. 47 to 50). The 3-D figure shows the view of an object. Identify the correct
top view from amongst the answer figures.
f[E9r: (7. 47 @50 & fo@ ) | 3-D F¥7 3TFfd § UH a5 & U 599 &1 QT T2 &1 39H7
Tl ST g9, ST SFHa § G v |
Problem Figure /979 3&hid Answer Figures / 3 3777?'7%/?#
47.
[ ] L LU L[
I N e B I R B 1
1) (2) () (4)
48.
L L L [ ] L[
1) (2) (3) (4)
49.
4‘_:: L L L
= = |
1) (2) 3) (4)
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Problem Figure /597 3Ihld Answer Figures / 3t 377§Iv7%ﬂ7f

50.
1) (2) 3) (4)

Directions : (For Q. No. 51 to 53). The 3-D problem figure shows a view of an object. Identify
the correct front view, from amongst the answer figures, looking
in the direction of arrow.

fEor: (.51 @53 & forw ) | 3-D F¥7 3T 4 T 9% & TF g97 FI fe@rar 77 &1 ik
%! I 4 3@d gU 599 T8l GHE 599 &1 I Hlad 5 G
Y |

Problem Figure / 97 3Thld Answer Figures / 3tX 3777?'7%/?77'

51. _ - _
(1) ) € 4)
A
52. - - _ _
| | — M5
) ¢ ®) 4)
A
53. - - _ _
& ] 1 E
1) 2 3) 4)
A
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Directions : (For Q. No. 54 to 56). The 3-D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking

in the direction of arrow.

3o : (9. 54 @56 & fo@) 3-D J97 3la & U a¢g 3 TF §9F P fe@rar 7 &1 arw
#1397 o 3@ g $9% Ta THYE 99 Pl I HIaEal 4 G
YT |
Problem Figure / 97 3T&hid Answer Figures / 3t 377?77%12#
54.
,_|_|: ,_|_|: ,_l_I: : ]
L] | ] |
1) @) ) 4)
N
55. [] ,_|_|: []
[ I — Alz‘f _I_|_
) © 3) (4)
AN
56.

E
i
T

1) (2) 3)
~N

Directions : (For Q. No. 57 to 60). The problem figure shows the top view of objects. Looking in
the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

59T : (9. 57 @60 & @) | T 3Tpia ° aagsi H1 W §vT fe@rar = &1 ik Bt e 7
T@d U W 3Hladl 3 9 T8l GG 5 BTy |

Problem Figure / 97 3ehid Answer Figures / 3tX 37@'7%/2#

57.
0% e plle el @il
SNS
(1) (2) 3) (4)
T
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Problem Figure / 97 3Tld Answer Figures / 3t 377§Iv7%ﬂ7f

R

T 0 ) G) @

59.

o 0 N VN VAN V%
1) (2) (3) (4)

X
!

199 “mih b a0

!

Directions : (For Q. No. 61). From the top view given in the problem figure identify the correct
3-D figure from amongst the answer figures.

fEor: (7 61 & form )1 g TE gYT STPId F ST 9T HI Gel 3-D IR SEladl 7 F
TEE |

Problem Figure / F97 3Thld Answer Figures / 3tX 377?»’7%/2#

-l OO E
1) ) ®) (4)
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Directions : (For Q. No. 62 and 63). The problem figure shows the elevation of an object. Identify

the correct top view from amongst the answer figures.

fdor: (7 62 363 & forw )i v STFla O fhal a5 F TG §VT Q@ T 81 S

STFlTIl 4 G $THT T&l ST g9F Tgai1d |

Problem Figure / 97 3I&hld Answer Figures / 3t ST

62.

63.

D0 QG

1) (2) 3) (4)

{ I ! !

1) (2) 3) (4)

Directions : (For Q. No. 64 and 65). Find the odd figure out of the problem figures given below.
39T : (7 64 3i65 & forw )1 74 51 7§97 sFaal § @ favm spia weEna |

64.

>

(2) ®) (4)

@)
65.
1) 2 ) )
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66. Which color is obtained by mixing red and | 66. e T den 1 foe 9 HIF 1T AT ?
yellow colors ?
(1) Purple (1) ST
(2) Pink (2) TSt
(3) Orange (3) gad
(4) Brown 4) YU
67. Salim Chisti mosque is located in : 67. Geim Tt o1 HeherT el W feord 72
(1) Gwalior (1) TaferR
(2) Fatehpur Sikri (2) TR fawd
(3) Hyderabad 3) THER
(4) Delhi (4) fooedt
68. Temperature of the Earth due to the | 68. #Xdl 1 qT9HM ‘IH B=E Y&’ 4 :
‘Greenhouse Effect’ :
(1) Increases (1) dem®
(2) Decreases (2) ¥ g
(3) Remains constant (3) U HHM T&dl 7
(4) Keeps increasing/decreasing (4) &dl/=edn Gl 7
69. Vertical sun protectors over wall openings | 69. f&g®! o | o TS YIS We&eh P fortoni
help in cutting off summer sun rays on : %1 ford faem & @red €2
(1)  South side (1) <feor sl T
(2) Westside (2) ufR=H B W&
(3) North side (3) W H TH
(4) On all sides (4) STIH
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70. Which one of the following is not a load | 70. fr=fafea @ & A T oAl | YR 33M el
bearing component in a building ? feem & g2
(1) Column (1) %™
(2) Beam (2) RN
(38) Partition wall @) faursH emr
(4) Concrete floor slab (4) hshie I wE afea
71. Which type of roof will provide maximum | 71. fr=fafad § HHA O Bq oAl H T fafemwor
protection from heat radiation in a q Hol 3fek g <t ?
building ?
(1) Painted aluminium sheeting (1) &f TgfatEm =m
(2) Concrete slab with plaster (2) Thshic Tfeal WX & |1Y
(3) Concrete slab with mud and brick (3) hehic dfean fHet TH 21 ot <Red &
tiles e
(4) Concrete slab, water proofed and (4) a1 G, ITFEd W TH gs hehie
covered with a roof garden qfean
72. Ellora temples are : 72. TeAN o HST:
(1) Made in marble (1) IR IATE
(2)  Built in sandstone (2) A TGS Feek | =1 g
(3) Cut out of rock (3) e H ¥ ®e gy g
(4)  Built in wood 4) ohS H e E
73. Gol Gumbaj of Bijapur is : 73. SIS I TMiel T
(1) A Fort (1) U fopen &
(2) A Mausoleum (2) Ush AU g
(3) A Palace (3) THHEAT
(4) A Mosque (4) U Al g
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74. Buland Darwaza is located in : 74. daic SwaTST fohd H feem § 2
(1) Fatehpur Sikri (1) e fawd
(2) Red Fort (2) e feRen
(3) Agra Fort (3) AT I femet
(4) Golconda (4) TieTRieT
75. BigBenisa: 75. T ang?
(1) Clock Tower (1) Ee =
(2) Palace (2) #Hed
(3) Mosque (3) W&
(4) Temple (4) df
76. IGBC stands for : 76. TS, fhE w1 Ui © 7
(1) International Great Beautiful City (1) ST srel X o
(2) Indian Green Building Council (2) YR BRa werd aitug
(3) Indian Great Building Center (3) YR 9T HaT hg
(4) Indian Government Biological (4) YR SR Sifash g
Center
77. Solar energy is converted to electrical | 77. I S ford ¥ fosrelt # iafdd Bt 77
energy by :
(1) Photovoltaic cells (1) REcERE: ded
(2) Electro magnets (2) faga e
(3) Bio technology 3) 19 renfient
(4) Rain water (4) = 1 A
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78. The ruins of Hampi are located in which | 78. &7 & Wes fha T # fod ¥ 2
State ?
(1) Karnataka (1) HAleHh
(2) Andhra Pradesh (2) 7Y T
(3) Kerala (3) &
(4) Tamil Nadu (4) dfFerETg
79. What is Venice famous for ? 79. e ford o forg e § 2
(1) Canals 1) &
(2) Mountains (2) dd
(3) Valleys (3) =feat
(4) Springs (4) =mH
80. Pyramids are located in : 80. faufe e feerm €2
(I) Rome 1) ™
(2) Egypt (2) =
(3) Greece (@) "=
(4) Ethiopia (4) et
-00o0- -00o0-
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